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18 HMERE = 1 57,037, 121
BLIE AR T 2V 1 4,803, 621
FLEKHL - SR 2V 1 4,803,621 | H & KIE S 100 [
ERETHIM
RS CE R 30 5]
AR - R ILEE
TE AR m iR 5 []
LI Syned 5, 700 m
ARG - T 11 [=]
E+T 2V 1 151, 100
+RHET ® 1 70,090 | fA LHE (AT) 5 m3
URE L
AR s () 5 m3
VRE L
WABRET Y 1 35,835 |EAFRE (AT 5 m3
L= 0 IH
(EN =S 2V 1 45, 175 | BIARFRE (AJ)) 5 m3
LT PR 1S T = 1 24, 376, 100
AR T Y 1 20, 832,000 | BFLAAZH 1, 300 A
—F BE 1300 X 120X 100 ;
AR AZ H1 50 %N
—F BE 1300 X 120X 100 3THadh ;
LA AZ H1 10 P
—%H FFU 1300X 120X 100 ;
B RAR AR A M 5 %N
# 47MH FFU 1500 X150 X 100 ;
B RAR AR A M 5 %N
# 47} FFU 1500 X 300X 100 ;
B AR A A M 15 K
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# 47MH FFU 1800 X 150X 100 ;
B AL AR A H 15
# 47MH FFU 2000 X150 X100 ;
B AL AR A H 15
& {7MH FFU 2300 X150 X100 ;
NG AT 2V 1 346,800 | LA HA 20 m
15kg/m HHR 10m/A ZHA ;
FEERISR AR 10 m
15kg/m HR 10m/A XA ;
Ay S A T = 1 416,500 | 43I 272 1 il
NI V=l 15kg/mb—v ZEA T ZHE S
5 I 2 AL 1 L
B AVMERR 15kg/mb-V AR 3RS
HE D ATH T Y 1 820,900 |EHIEDAHE 1 pre
ok ;
HERIEIET 2V 1 1,959,900 |JEREM AT 50 m3
BT B A7 30~40mm ;
1H IR Z2[E D 100 m
Mi1. 6m ;
BE R T 2V 1 2, 684, 300
L e B M A B 2V 1 2,684, 300 | fEFLEF - HE 3 &
HEIR A o FRE - s 38 i T
R i L 2V 1 10, 526, 586
5 - T Y 1 1,947,686 |BLiEME 7 — 7 LA HR 10 m
$ 16 G/0(BEANM) ;
[958 S A A 1 %N
AXAT, BEAT;
[958 M i A S A 22 1 %N
C¥A7;
B A B 1 - S 1,844 m
THIIRS BAsFHERE - Wk 32.2 m
AR TR - s 8.7 m
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A B L 2V 8,578,900 | ¥4 BhEMER & - 2= 10 m
7z AR 1. 2k~1. 21k ;
PEA WU % > 7 VEUT 360 m2
A WU % 7 VS 360 m2
PEA VI SRS | 247 A
PEA VLI SRR 247 A
WA EABER v MERIE - E 202 m
H=4. 3m ;
189 5 V5 A B RE AR 1 66 m
H3. 3 X W6. Om ;
181 5 v A Bh MR 2= 66 m
H3. 3 XW6. Om ;
Ak T = 684, 794
/NIRRT Y 684, 794 | /NRFEERERE - itk 187 pre
LIRER =Y i Y 2,699, 970
G PTHE RS L = 1,471,320 |FA7KER(MHEDES 4 & T
P R E 4 (50
B LA ORSF R 4 (530
e A A 4 (530
B LAE I 1 []
BB b A AR L T =X 1,228,650 | 2 U v 7 Ik BERD 0.5 m3
EPRME - E FIRREE ) 2 (530
EFHI - %S (AR B HE ) 1 (530
R R AR - f 1 (530
H A BB R RN E NGRS - s 1 i T
faxts T 2V 10, 715, 350
WEIERRE - BRI = 10, 715, 350 | % HERRE 15, 300 m2
[ZA 57, 500 m2
ANTT 5
[53 5 A HiAT 72, 600 m2
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FGan Y 1 395, 300
FRE5 T = 1 395, 300 | Bl HFRE (HR) 10 REfH
B NBRE (A7) 10 ANH
RS 2V 1 57,037, 121
Il R Y 1 16, 340, 800
o Y 1 10, 304, 800
et 2V 1 7,402,400 |FIE RIS 1 2V
AR E 1 2V
Bt E g 2V 1 673,400 |FaB HEE SRR 1 =
B 2V 1 1,595, 000 | LR fmEERT 1 =
Bl RIEUER (FE L) Y 1 634, 000
Il (it L) Y 1 6, 036, 000
il T Y 1 73, 377, 921
Bl 2V 1 31, 613, 000
T =5 Y 1 104, 990, 921
— R B 2V 1 17, 879, 079
T =AM Y 1 122, 870, 000
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